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Each question is followed by four answer choices i.c..A, B, C and D. Out of these you
have to select the correct answer for each question and darken the space on OMR
sheet with the correct answer.

28 DLW weenD DBRES weonlen A, B, C soootm D 65D D3 DY 28 HAE Jogh
0dimEesHD 85620 OMR 836505 ©Seng) Sobsao.
-,—,{u/f.;u.;/r‘u)(;..:émmi/ﬁ,aﬁls’d,pé‘_@:{{_;nulc-lm DB L Jir g

The original copy of the OMR Sheet shall be handed over to the invigilaior before
you leave the examination hall, failing which, you will be liable for disqualification
you can carry the copy with you.

D) 9Bgp S50 19206 DB b 00 g £ieSiso HOZADBB SHBOBBED. B0 500 S5O0
G0 HD BBLOTHEND.

wELL P lomm Feitle b Wi bonfditsny SL 17 L K F QeI 12 oMRS 2y o Jyui

For rough work, if any, the pages 49 10 52 of the Test Booklet may be used but not on
any part of the test booklet or OMR sheet.

55 5080, D> SaHSODS, BY 2056 050 defen 49 F008 12 8 B L0EB S OMR LeSeds
D s SOHMRAoWTI.

-t (OMR o iS L SOU (Sg LL 1) 520N £ ITL $0F gt S SIS,

The candidates should not write on OMR Sheet any irrelevant matter, except the
specified items of information called for; if he does so, his OMR Sheet will not be

evaluated.
0z5600 OMR &5 &65, 98800 0B85 DRADENLD 85, OFSOE DHABHVEV OHEREE. ®k

ZeRScloEe 0o OMR £eS 65 Sabetm. |
_Jnfél.vd’dz_"OMR;J&JH-u..J(f{; ufﬁl)c—d’}(fél.)"’d/-([/r;_{]’kUIU/J/"'/_"{&_;OMR

Candidates are instructed not to bring calculator / cell phone / any other computing
device along with them into the examination hall.

VR D088 Dt SSHBE / HS PS / 38 HI0 SooR,Bob HoSSHVED SO Theosts
SoBr00E8R G S, , '

Lz e Vg tu? F R RN S BeSractsd Usir s

Do not help other candidates as by doing so you may reduce your chances of selection
and get disqualified.

RBEO HBED S0, by T b s SlefonBiy Hroam BGIR F6EM)
S2gtaroRo. |
..;_.Cc(!&:;l;dltf..r‘rnlu_le_rnH,wt(dLLnb_i;;évfc.i_.fl{lu_‘f;)ufu:/»

Incase of doubt, refer to english version and if there is any small variation noticed in
3 languages. English version will be considered as final.

DS DoiSsenn &i§S? sz ephi wntod. 3 wereesd D Broen Gijtgond eor 85 HOetS
BB,
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For questions 1 - 5, choose the closest meaning of the given words.

1)  Ncpotism.
(A) Impartial

2) Foe
(A) Fraud

3) Imperious

{A) Distant

4)  llicit
(A) Illegal

5} Oblique
(A) Straight

(B) Necamness

(B)

Enemy

(B) Temper

(B)

(B)

Draw

Parallel

(C) Favoritism (D)

(C) Friend (D)
(C) Tamper (D)
(C) Daffer (D)

(C) Perpendicular (D)

For questions 6 - 10, choese the opposite word for the given words.

6) Shallow
(A) High

7)  Paucity
(A) Scarcity

8) Novel
(A) Traditional

9) Repel
(A) Attract

10)  Acquit
(A) Lxplain

RLS - 13 (Set - A)

(B)

(B)

(B)

(B)

(B)

Deep

Richness

IFormal

Continue

Release

(C) Hollow (D)

(C) Plenty (D)

(C) Innovative (D)

(C) Attend (D)

(C) Convict (D)

Query

Fail

Proud

Postpone

Slanted

Hidden

Presence

Recent

Concentrate

Excuse
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For questions 11-15, choose the most effective word to fill the blank to make the
sentence meaningfully complete.

11) The government is planning to set family welfare centers for slums in
cities.
(A) 1n (B)Y up
(C) for (D) another
.
12) Thetruck was _ thetraffic and the policeman asked the driver to move ofl.
(A) disturbing (B) hiding
(C) obviating : - (D) obstructing
13) Shchasan aversion _ taking cven onion and garlic. ;
(A) at , (B) against
(C) with (D) to
14) | acar (o be absolutely necessary these days.
(A) think (B) regard
(C) agrece (D) consider
15) 1haven’t seen you | a week.
(A) from ‘ (B) within
(C) for (D) since

RLS - 13 (Set - A) 1
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For questions 16 - 20, read the following passage carcfully and answer the questions'
given below it.

Dance is an art form that gencrally refers to movement of the body, usually rhythmic
and to music, used as a form of expression, soctal interaction or presented in a spiritual or
performance setting. Gymmastics. figure skating and synchronized swimming are sports
that incorporate dance, while martial arts Kata are often compared to dances. Maotion n
ordinarily inanimate objects may also be deseribed as dances (the leaves dance in the wind).

Eyery dance no matter what style, has something in commnon. It not only involves
flexibility and body movement, but also physics. If the proper physics is not taken into
consideration injurics may occur. Chorcography is the art of creating dances. The person
who creates (i.e. chorcographs) a dance is known as the chorcographer.

Dance has certainly been an important part of ceremony, rituals, celebrations and
entertainment since the birth of the carlicst human civilizations. Archeology delvers
trace of dance from prehistoric times such as the 9,000 years old Rock Shelters of
Bhimbetka painting in India and Lgyptian tomb painting depicting dancing figures from
circa 3300 BC.

Once of the carliest structured uscs of dances may have been in the performance
and in the {elling of myths. Before the production of written Janguages dance was one of
the methods of passing these stories down from gencration to generation.

16) An art form in which people move is called dance.
(A) spiritually (B) rhythmically
(C) cxpressingly (D) humorously

17) While writing in a poctic mood, the writer may use the word dance to describe the
~ of some object.

(A) movement (BB) bcauty (C) rhythm (D) velocity

18) 'To avoid being hurt one should consider the _ of object and its movements

while dancing.

(A) flexibility (B) style _
(€) physics (D) body movement
19) Before the script of writing was produced, dance used 1o be-a ~ from onc

gencration 10 another.

(A) mode of passing information (3) mode of passing stories
(C) mode of sharing cxperiences (D) mode of narrating events

20) A word in the passage which means the same as lifeless is

(A) animate (BY” unanumate (C) inammate (D) motionless

RLS - 13 (Sct - A) 3
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21) Which of the following is a prime number?
Bo8) aned HED VO, D7 e U ouls e o il it

(A) 187 (B) 173 (C) 437 (D) 627

22) LCM of 26, 56, 104 and 182 1s

26, 56, 104 G0DOKO 1820 B..4D DOBY € EL.CMK182,5128, 56,104
(A) 748 (B) 1274 (C) 728 ' (D) 456
12.1
=7
23)_ 19.8
11 | 7 13 11
(A) 15 ) - O - D) 3
24) 2 of24= 2x?
) got2a=—e
5 15
= o, 24 = —x7 15 93
g 0% LT =57 ¢ 2
A) 7 B) 8 | C) 15 © =
(A) ®) © O 53

25) J17161=2?

(A) 181 (B) 141 (€) 131 (D) 129

26) If the average of 40, 10, 25, 20, 35, x is 25, then the value of x is
40, 10, 25, 20, 35, X © D50 25 @o0d ¥ Dend JoB?
0 s\ e Sx7 5256- 91640, 10,25,20,35, %

(A) 35 (B) 20 (C) 30 (D) 25

RLS - 13 (Set - A) &
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of a certain number 1s 64. Half -of the number 18

|

4
&8 HogS® 3 0B 64 BOWB, B VOPL® DD DOBT

4
St Dy ST r642 5 i(u&_,__(!

(A) 40 (B) 80 ©) 16 BT 32
2

83 =9

A) 210 B) 3+ 4 Dy 5~
(A) 213 ® 35 © () 5

If the side of a square is increased by 25%, then its area is increased by

8o <SESHED B0, EHERY 25% PODB, TeD FFIY0 OB BEADHEOD?
U LI LB, el n25% UTKE L1/
(A) 40.5% (B) 55% €) 25% (D) 56.25%

Ajay sold a cycle for Rs. 680, losing 15%. The cost.price ofcycleisRs. .
0D &5 PBED 680 ERFPODHOD O, 15% SEPY 0D, 8 PSS 5% Jo H0BT (RJADH)

s red St Sass ) ute 6808 L Lol 15% J Lig
(A) 782 (B) 800 (C) 760 (D) 820

IfA:B=2:3andB:C=4:5thenA:B:C=7
AB=2 300wB:C=4:50cv8A:B:C o087

¢wifA:B:CInB:C=4:5, A:B=2:3/1

(A) 2:3:5 (B) 2:4:5 (C) 8:12:15 (Dy 2:12:15
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[f 12 men or 18 women can do a picce of work in 14 days, how long will 8 men
16 women take to finish the work? (in days)

12 5008 Hhapes Foe 18 08 Hew &8 HO 14 682 Iahiom. 8 08 $HEpen e
16 508 Jev 98 HOD 0 6968 Hpo) S ?

LSS R S 1@,1;/8/rb’mugz./&‘ij:u)14;?(_{",{,;*13g;/1:
(A) 9 (B) 14 (C) 12 (D) 10

"A’can do a picce of work in 8 hours while ‘B’ alone can doitin 12 hours. Both
and ‘B’ working together can finish the work in how many hours?

A &8 D09 8 ok, B od ©00 12 Kokes BoneHd, A, B en angits 0% e 500

50858 0y BiJern ?

ur"fgﬁuium,m_?t/&‘(u:uﬁflzyfr(wwBm‘ar/‘fufu;;‘"sfrh{m
e Ly /S

4 ' 1
(A) 43- (B) 4 _ (C) 10 (D) 5£

A tap can fill a tank in 8 hours and another tap can’empty it in 16 hours. If both tl
taps are open, the time taken to fill the tank will be ___ hours.

25 DO 28 eR.0800 8 (5068 DOYBON. 5% Hog) 0 eR08D 16 S0t 200¥ B0
B0 DO 88N BOY, 6 RO DY 50658 DOBEOE ?

Jvufnfjui,;ﬁ_%cﬁ/duc.:u:u}fw Jr'/wnq_t/u:u;%fs/u@d"ug
WS ALUFE 27z b

(A) 24 (B) 8 (©) 16 (D) 10

A man riding his bicycle covers 150 meters in 25 scconds. What is his speed 1
kilometer/hour?

©8 8:8 85D 150 Dot tiroeg 25 OGS SLEOAB, 08 SHeso Kot of S6Towm?

?Jﬂﬂ!gzﬁi"‘n)/&)JJi;d‘_t’/é_u:i'-gZSJ»‘Ub/)'flSO{gﬁ/f._{l ‘
(A) 23 (B) 25 ©) 20 D) 216

RLS - 13 (St - A) §
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A tramn 132 m long passes an electric pole in 6 scconds. The speed of the train in
kmph is

132 8ot G 5 &8 Fed &8 DS Qoarg 6 PE0ES’ a3, & Feo Bssn Kot DR

beﬁ“s(f)oé.)d)?
Wfr/%.»_f ,fd/v,Ju/fc,d/Jw‘M()de/J: e K132y 2L
(A) 80 (B) 79.2 () 72 (D) 70

A certam sum s invested on simple interest. 1 it becomes three times in 10 years,
what is the rate of interest?
5208 Sea 2pdBES Hepwd B0 BOROY. HO VBB & J0Bo Ktk Biowd, ©b

3t D087 i : .
,L,rxd[;rc/"?ci:_dlgnl:fufﬂzfu.’.dlzlofl.:"_b@ﬂ;{:rb;dr""fv{l

(A) 25% (3) 20% Q) 22% (D) 18%

A sum becomes Rs. 2,916 in 2 years at 8% per annum compound interest. The sum
1s (in Rs.)

5208 Smgo 8% Jedoo <58 6 Bend? 2 HoSBoeRE 2,916 HRDCDED VOE, & DVBO DOB?

(Cpapane?®) 2
J’fufﬁ J"fydez_.uz9xwdvza_uu£ quf)rc/s%(J_m
(A) 2560 (B) 2750 (C) 2625 (D) 2500

The arca of a rectangle is 12 sq. meters and its length is 3 times that of its width.
What is the perimeter of the rectangle? (in meters)
2l 6‘5}65 BETQ0 (308, oe0 12 SR ooty oD MEDH) Btsentd fetd FHowd « ef)o‘

SEBDO cLEVEH D0B? (Dotogest)

R L S SOECE DD duJJx/ch_/c‘i/IZJ;KJ“VJx
(A) 14 (B) 24 ) 16 (D) 18

The total surface arca of a cube is 600 cm? The length of its diagonal is meters.
8 §uidEn ANk, HoRPGHe STouEn GO0 WY PoSlLb. WD SGEL MEH d0B?
(Soeaggess).

S E SIS LT 2 ETE 600505 g6 e L

_ _ 10
(A) 1043 (i3) 1042 (C} 52 (D) 7

[3{Set-A)
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41) A student has to obtain 40% of the total marks to pass in the exam. He |
marks and failed by 80 marks. The total marks in the exam are

25 DD 28 DOKS® SEHIEDRDS B0H0 EetBf 40% S79t5,00 0P, @B 220
0L, BO SR B 9D50 HOD GBES OO SHS DF, e HEESS Bogo SRy

Lrnl S et bt S S bt a0% LB L Qg
?@Zot&ﬂdﬁdlﬁvh/l}%t%ﬁrnc_‘

(A} 800 (B) 750 (C) 700 (D) 900

42) If sclling price of an article is 3 of its cost price, the profit/loss iri this transa

, _
28 B08) B8, T, Jo 53 Do’ — zﬁ S0 90, Ga Do GNPSOS 0L eegf /&
&

DO ? _b"fl/uuwd’u‘u u‘JJl;’r3 b/)]u)‘u?)/ul’[;/..
(A) ()6%% Loss /&30 / o (B) 33%% Profit / engfo / d’
(C) 66%% Profit/ exgo / ¢ (D) 33%% Loss / &80 / (/L

43) Satya starts business with Rs. 5,000 and after 4 months, Subhash joins with S
his partner. After a year, the profit is divided in the ratio 2 - | rcspcullvgly V
Subhash’s contribution in the capital? (in Rs.)

8 ERER0Y) D, 5,000 ERRADHO o)éa&.gaac.sc‘?aﬁ SPBOPOD. TReNtD JOO BrHERS

TEREOS? gtse.Dore SR, DOBBEZOBHNH B EPY TOHHE Ko 2: 1
DOTDHEGE 0SB, K218 D0 Dinwd DERE>T (Beearef)

F CJuee ¢t-/_//uurmtm c.t‘ff,;/ztub’c.,,,l./c_uSOOOwi

AT T L S AL 20

(A) 3600 (B) 3700 (C) 3750 (D) 3800

44) A’ can finish a work in 20 days, ‘B’ in 30 days and ‘C’ in 12 days. ‘A’ ar

started the work, but are forced to lcave after 5 days. In how many days, ‘C’
can {inish the remaining work?

28 DO A, 20 6%, ‘B’, 30 6% svoon ‘C, 12 658 Hre) oo, ‘A’ S
‘B’ s HOD D000 5 v BthHans srothHiHth HD SRD SO0E0 2BE0. DR
20O ‘C‘- DY) GVl Hpe Bahses ?
cj/‘({/anﬂm_._ /’U‘fu‘wm/rbu qurg'uﬂo/rb’msm Ju;zof(b\
A TS G B el
(A) 7 (3) 6 (C) 8 (D) 5
RLS - 13 (Set- A) 10
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A thief stecals a car at 1 p.m. and drives it at 60 kmph on a highway. The thefi is
noticed at 2 p.m. and the police immediately started chasing him on a bike at 80
kmph. When will the police overtake the thief?

8 (P01 25 Sothi1 EORRERO 1 {506 GPoRDON e 0 60 8.§oe 35088 a8 Sy

ARGV, 3G3ER0 2 o0 S0t GPorBosadHEsd DURDOTHED &8 JFdW BHP 80

8.8 S508% Bowda OF) ote HEDADOST MHW RO TV ?
\-a_c;J/{_—Df,::;_JJI_‘LC‘ZJgJ;L.JJ}c,JDJJ%)KGO;JL.}QJ({T‘_{IA;”/;:HQ
.5:Z:C:‘;Jl‘jg;:ﬂ'é;9@1/%:.;01&}5:{80;3{&{&’}% u’g{fﬁ;ué_u

-JL&/H?JJJ[L)':
(A) 3.’30p,m.- (B) 4pm, (C) 5 p.m. (D) 6p.m.'
log /5 _
log 5 h
1 ' ' 1
(A logd5 B) 7 (€) logsVs )y 3

The sides of a rectangular field are in the ratio 3 : 4. If the area of the field is 10,800
sq.m, the cost of fencing the field at the rate of Rs. 10 per meter is : (in Rupees)

28 OF ST Yoo s, Jetid), Bienen 3: 1 DQBS’ srmow. & QoD o, T
10,800 56565 Hoeafond, 28 DL 10 BRDADO TS, B HOO TR BB SoHEHS
DOB PEHH0D T (ERIRAHH)
el S LB Ut 28 108005 K01 e 3:a BRI L S5 L
' (u.fu{;u)_b'nﬁf@]'.lﬂf{..@??n&;u10/"5(:3
(C) 3500 (D) 6300

(A) 5600 (B) 4200

‘The area of a rhombus 1s 384 cm?. The length of one of its diagonals is 32 cm. The
length of the other diagonal is : (in cm)

28 0 SEHREN GI0E, BEeOHD 384 SBEY DoSHOD, 2ol B0 B el 32200 &0
©o0E, BoKs BEE0 3w, MEP D087 (ot Hregs)

_Jﬁ(_?,(jl{}J}J;/u;’:‘:‘}f&73ZJHJ}:4FLJf_9/¥&“C&/384}1(@-’)\_{1

(A) 24 (B) 36 (C) 18 (D) 48

RLS - 13 (Set - A) 1
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The height of a circular cylinder is 14 cm and 1ts curved surface is 704 sq.cm. Then
its volume is : (in cm’)

CUCRNG poLleTs) K)J(ga’aa’m 0308, ) 14 0.0 HOA D DY TR0 704 TS 2oed
DotrS0nB TR 0 HOBRE0 0B (5055 VoS L)

,Jﬁdu"/y#nginﬂ&‘&/7o4sb§zd;/}m/’<‘d‘f14&;‘:6;!%&;%.{1
(A) 5632 (B) 2816 (C) 1408 (D) 9856

What is the standard Deviation of the following?
808 57¢3 BI0HSOH0 OB 7

10, 20, 30, 40

(A) 25 (B) 100 (€©) 545 (D) 1045

?b"yzgd:/"ldgg;»w_'jz-,u

Find out the correct number in the place of *?°

808 JeBes® ‘7’ o @3560&‘)‘5 BOEBORD VGO DOP; DT

5760, 960, 7, 48, 16, 8 AT VTN SOV W TV RPN (841 € 1S 1O ST
(A) 240 (B) 192 (C) 160 (D) 120

Find out the correct fraction in the place of ‘7’
8oe) FeBS® 7’ 5o Apivodt SOTHD HJS Dgo DO

23 4 5 & . GBS IE Sl T LS I 5t

7 7 7 _ -7
A 75 (B) Jizs (©) s (D) 2505

Find out the appropriate term in place of “?”

8ot FBSP 77 & Ar50S’ BoERS DTH DR B8 7 |

AYD, BVF, DRH, 7, KGL . & (5 28 ST 2100 T L § 8 v et 5820
(A) FMI (B) GLI (C) HLK (D) GMJ

In the following series find the term in place of <7’

8085 00D F3S 177 G AP0 GOmRER HERY K608,

AZY. BUT, CXW, DWV. 7 ~E GBI LT E S Jir iy o S s
(A) VUE (B) EVU (C) VEU (D) LEVA

RLS - 13 (Set - A) 12
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hen 55) "Bread’ is related to “wheat” in the same way as ‘Brick” is related to

boed

]

-

42

/0

56}

57)

58)

59)

(A) Clay (B) Building (C) Cuboid (D) Fire
8&, H3HBOL HODOHODBENT, BT 508 HOBOYHODOD?
(A) 083 (B) @90f (C) Bpossn (D) ok
Kre S P WL e e ud PV L
ST o £ © =M (B) FE @A)

There are four words given in the following. Three of them are alike in some manner.
Find out the odd one from the following?

(A) Guitar (B) Sitar (C) Flute (D) Violin
808 TpeotH Drren [PzE0W, T3S Saed HEF af DoBoEo EOA SaR0w0. Teedest
BROGIOND D Br0E%06.

(A) Bens (B) b (C) osE%® (D) $c3o0s
_g,_fw,cwJw{_:aw,f.,{;u:uw;wc)fufqréé.;rbgutd_';@u
s (D) S © L (B) AL (A

If GO =32, SHE = 49, then SOME will be equal to __
GO = 32 sooaxw SHE = 49 wowd SOME 3908 552007
€51t U SOMES 5 SHE = 49 451GO = 327
(A) o4 (B) 62 (C) 58 (D) 356
In the numbers from 100 to 1000, how many times digit 1 comes at the ten’s place?
100 85008 1000 ST s Do HEoe RS0 1 5o 0RBY?
' _II'.-’Z_.T.J;&(/Mﬁ{rl?»&d})gj:urﬁfhfwm;—100
(A) 90 (B) 100 (Cy 10~ (D) 9
If October 8, 2013 is Tuesday, then 1st January 2015 will be L
8 ®5%06, 2013 HH0EEPE0 YONB 1 BSHO, 2015 HEVHBI0L 7
sl Y2016 5219 st 6 S2013, 180
(A) Friday / gzeto / »2 (B) Wednesday / evganto /452
(C) Thursday / tocoanto / o A (D) Saturday / S0aeto / =

RLS - 13 (Set - A) 1B
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In the following figure, given numbers follow a certain trend row-wise or column
wise. Find out the missing number (7) _
05 oGS DS E3 DoPen VSTEOL. BD VeYHTe 520 BForE 5 wf B
DBDORRCW. HOBGE BRHDE D Do) (7) D BoEH0E.
_u::'izdy i&-?uéJULL?’U&H{ﬂJ"Z«dJ&ié_Ju’:Jj
-édit‘lJ/hé_ui_T,GJ’?'utﬁ_gv

1 4 ?
4 2 5
P 2 3
49 64 169
(A) 6 (B) 5 | €) 4 (D) 3

In the given figure, numbers follow a similar patiern, find out the missing number
M. |

808 cBED HEOBS, 2O Do) 28 YERD HPEBD R0NORAD GRDOD B ODH HO;

(710 Bohdob. _ . :
PERTP N ,GJ"?'ul:‘J.le,nga’mA U'c.,.JE:‘fL :lﬁlrd&f‘:lé':{..)ufJ_Sbn
WY NP
12 170 16\32/40 36 18 27 '
6 | 8 9
(A) 18 (B) 6 ) 12 (Dy 9

In the following series, one number 1s wrong. Find out the wrong term.
8065 QR FBSF 28 DoY), B, aNBLE0N. 8 HOYY; DOT

5,27, 61, 122, 213, 340, 509 : : ,
~E B ek sk s L1y ot

(A) 61 (B) 509 (C) 27 (D) 122

14
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63) In the following series, Find out the letters.in place of ?
80¢5 oD% FeBS 7 0B’ SoGES BETren H?

| ac?cab?baca?aba?acac .
: ,gj{uuwJJ/J.:;LT,,CJ*?'yw.anru:sz_jau
(A) acbc (B) babb (C) bcbb (D) aacb
64) Pen is to poet as needle is to
(A) thread QB’)/ tailor (C) button (D) sewing
DRI BHSS HoWOLO G, HrOE ot areds B8 DOLOO GOB T '
(A) oo (B) &6 (C) o8 (D) sgto
_(,»C;_J(JJ;(,J;UUKJ:'!LL/VUNV%
Ju- o ¢ (© ¥ ®) Sbs (@A)

65) The angle between minute hand and the hour hand of clock when the time is 4.20 is

4 5000 20 DROEPLL HBEARES0SD Sote Sepsd, HEAPY HePED B350 590 Do ?
..S'.V'.«Jf.fbfuyuﬁ dr(fu’ulérd/éédfr/wm}4

(A) 10° (B) 5° ©) 20° (D) 15°

66) Today is Monday, after 61 days it will b -
&8 6% AfdaRG0 ©o1s, 61 S¥e BHaes D 6% aHBoon ?

(A) Wednesday / entsoeso (B) Thursday / cothawso
(€Y Tuesday / sootsganiso (D) Saturday / 0aet0
fKﬂUJLj[J&'UJ61f;ﬂC))KﬁbT
s (D) Sfoo w2 @ YT

67) Find the missing number in the following.

£08 236 BRHDFoS (7) 08D 808508,

LSBT Ly I e S5t

3 7 1
- 6 |25 2 1t 70| 8 4 (12| 5]
Wt
4 6 ‘-’
(A) 10 (B) 1 € 2 (D) 6
: - _ A\ 15 O
RLS - 13 (Setng) }c/m %
‘4 Tu
\ﬂr\&‘\ .‘\—\n/
o
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69)

RLS - 13 (Set - A)
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Based on the given two statements below identify appropriate conclusion which
logically follows the statements :
Statements :

Some kings are queens. All queens are beautiful.

(A) All kings are beautiful
(B) All queens are kings
(C) All beautiful are kings
(D) None of these

DB

5208 508) Tearen TorRD. BOGLD ToEden WOLSHBEY.
(A) ceereost® WO,
(B) weeaeotstin geaven

(C) 2 lelnlelor] éxgaadochJa ooeyen -2,"-:15'-:;'?'u:z'f{-’,i;%b(atk-uéé-uﬂtfjéﬂ

(D) 65)53653. : e
, casrdd Lol Lot

. ol et (B) Ut s Pl (A)
u-?}(jx(g)’:uﬁ o. g_/_.?ac'){...:'.ur‘s’}rb‘- (C)

Based on the given five figures, marked as 1, 2, 3, 4 and 5 identify appropriate
answer figure from A, B, C and D, which will continue the same series established

by the five figures. . . B

065 oS 5 DeoEwen 1, 2, 3, 4 OO 58% HOOSE 830, A, B, C sovam D o
DETERARS 06 HE0LD DERERERY, HED HEOBVOL E35PROHR SoBLIT HOO08.
DssIA, B, CJ&181 2.t £ £ 55.911,2 3 ,4db’}|.g:r-f<§_,:u:¢5eu

- J’nt/f.f‘{g’a’u(f

L. L 1

1 2 3 4 5

(A) L (B) L

(€) (D)

16
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71)

72)
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A and B are married couple. X and Y are brothers. X is the brother of A. How is Y
related to B?

(A) DBrother (B) Brother-in-law
(C) Cousin (D) None of these
A Booam B eo Qaeins sot. X moamn Y en 295, X, A odnog, TG, Y, B 8
ROD)TES T
(A) 8 (B) end®
(C) 525 (D) b5
el EBY - GUEAS X O EUT Y X 37 sSSP BAIA,
ij(j’("——(;u' D) u}( (C) G")ulx (B) JL’f_ (A)

In a certain code ‘INACTIVE’ is written as ‘VITCANIE’. How is COMPUTER
written 1n the same code? :

& 55 gr5d® ‘(INACTIVE’ & ‘VITCANIE® oo 0od), 3 §5%&6° COMPUTER & oee

Ot ? |
Ly 3 AU S COMPUTERY & b W VITCANIE'Y INACTIVE'eS £ 34/ (i

(A) ETUPMOCR (B) UTEPMOCR

(C) PMOCRETU (D) MOCPETUR

From the following four different positions of the same dice, find the number on
the face opposite the face showing 6.

80¢5 000 TeentH aPDE Fohsoe ok, 68 PO 6 B0POP 6 BOBD ER1AH0G.

AT FICN GESp VIR 03 - SO T LIS -4 - I SRR AIS-19 319

(A) 5 (B) 2 (O (D) 4

RLS - 13 (Set - A) 17
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73) How many triangles are there in the following figure? -

8085 0O HLroSS Y Brberen &izom?

Surad & P st

(A) 17 | | B) 11
(C) 15 | (D) 13
74) Haemoglobin : Iron : : Chlorophyll : 2
(A) Cobalt (B) Calcium
(C) Magnesium | (D) Copper
‘ 3}35’)33@5@:5 ;o lo R §rfﬁ‘§30e§: 7
(A) &fend - (B) 509,000
- (C) DA%Jan D 06 .
© éﬂ ° () S_w % :d"u:{::u/’f:uf)b’ﬂ
¥ © = © & ® OTTAN0N
75) Line : Square : : Arc : ? - o
(A). Ball ‘ (B) Circle (C) Sphere (D) Ring
8&):1‘5&35‘@0::@&0:? , ' .
(A) w08 (B) swo (C) 6% (D) Heavo
s ST 2 U
SH o H© s B & w
76) Pituitary : Brain : Thymus : 7
(A) Throat (B} Spinal Cord  (C) Liver (D) Chest
DS 1 Roesesd : ; P 1 ?
(A) &R0 (B) 33508 (C) sedansn (D) o8
¢ L/Jla?::f'/lu Y
s (D) £ O iy ® 7N

RLS -13 (Set - A) 18
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England is related to Atlantic ocean in the same way as Greenland is related to
(A) Arctic ocean (B) Atlantic ocean
(C) Antarctic occan (D) Pacific ocean

R0805E BER0E b HBLROS G HODOLGO R0 HODALO BSenoks 308° &on?
(A) 0,385 08 Hango (B) eepoe3b 058 Do
(C) ®0em)e36 doas Hiwgo (D) D35 508 Hawngo

_G’Yc:'_u/uu(ﬂdfb)(j"ﬂc.a.u‘ibﬁl/‘uu(yéi
JO A @ e (© J;’y:lf- ®) BT (A

For questions 78-79; four words have been given out of which three are alike in
some manner, While the fourth one is different. Choose the odd one.

Hfoo 78 008 79 B oS oNBDAD O Hreedh et Hered DE? e BBOP HOWOTRY
508 ésa:am) gy 50 HTBO Pigorr €08, PRoe é;g DHERY B0G%506.

78)

79)

80)

81)

éwua.;w,f..ﬁmu-ww SP gL Ea bW S S (190178 12 4)

(A) Metre / ot (B) Acre/ 2860
(C) Furlong / Hcpoth (D) Mile/ Boew |
S0 S} © A @ - K @&
(A) Tolstoy / erdapad ' (B) Tagore / ootind
(C) Ghalib /- e (D) Keats/85
7 o Ji (© £ ® Feo@
In a certain codé, “SWITCH” is written as “TVISDG”, Which word would be written

as “CQFZE” in the same code?
28 558 gr5e® “SWITCH” & “TVISDG” m ooy o 8558 % DR “CQFZE" s
oe0d0ea)?

Lo A L cQRZE 39 g 20 TVISDGY "SWITCH o5 £ 3/ L
(A) BRAED (B) BARED (C) BREAD (D) BRADE

If ‘MINERAL is written as “QRSTUVW?” and ‘SOUND?’ is written as “ABCSD”,
then how will ‘READER’ be written in the same code?

‘MINERAL & “QRSTUVW” m ooy, ‘SOUND’ © “ABCSD” m oo, o3 B5&&7
‘READER’D &30 cecdneiy?

WaysI 154 'READER:’U‘&F »ABCSD"Y SOUND.sI"QRSTUVW"Y MINERAL"/I
(A) TUDVUT (B) QDZCDQ (C) SBFEFS (D) UTVDTU

RLS - 13 (Set - A) 13
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82) IfDELHI s coded as 73541 and CALCUTTA as 82589662, how can CALICUT be
coded?

DELHI & 73541 02 856 8%, CALCUTTA 8 8258966200 858 39 CALICUT9 S50
536 oy ?

Ly A CALICUTS o £ /3582589662 CALCUTT A /»173541 Y DELHL/]
(A) 5978213 (B) 8251896 (C) 8543691 (D) 5279431

83) Pointing towards Rita, Ravi said, “I am the only son of her mother’s son”. How is
Rita related to Ravi?

Send <S53Bm 58 cwen B0, ‘B0 @ED 8 o3, HEHES HIE LENHED™ Sen, 503

DE0HBOOE 7
(A) Niece / Sow55tsen (B) Mother / 59
(C) Cousin/ 825 (D) Aunt/ soe3 _
Ll 507 S Unteb S LGS St st L St p St
' -y
51 o vl (© Ut (B) Fu @

84) Aand B are brothers. C and D are sisters. A’s son is D’s brother. How is B related to
LC)? L4
A Sooox B en d56then. C sooam D en 356&moen. A At BERthHid [ 8 ASw.
B, C 8 Hsosymots ? o

(A) Uncle / woes ‘ (B) Brother / dSe5te
(C) | Father / s0g | (D) Grand Fathe’r/masog
e U2 6CI B SUKDEIKA- U U9 sDuntCat SWUF15BsIA
by (D) S © du ®) Fiow
%1S<b Ol
Q;‘f’\%_

RLS - 13 (Set - A) 20
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Questions 85 to 88 : Read the following information carefully and answer the
questions given below.

There is a group of five persons - P, Q, R, S and T. One of them is a doctor, one is an
engineer, one 1s a professor, onc is a manager and one is a psychologist. Three of them; P,
R and psychologist prefer tea to coffee and two of them Q and the professor prefer coffee
to tea. The manager, S and P are friends to one another best two of them prefer coffee to
tea. The doctor is R’s brother.

Yoo 85 So0G 88 SEH : §od VSR FE SOD, GD Jo& CVSED DYoL
DARFTOH048. .
P, Q, R, S svoaw T eo oeorhth 855000 28 (DO SR, O 25D B, &5 R0,
200 ZoaidB, ex8th Shah Hooaks w8t Py, D0 Hoth: P, R sopaty Psreey sob
508 650 awigsmD. et 2550 Q Sooaxn Peiod ¢ Kol 5edho GHHEBD. ddSab, S ooty
P &0 neoen, 50 w06 agn: & 508 5o angoe, wigb, R o, 96656,
el ety £E s ye if S LS5t (88t 85 i)
Llose }’,fjf/é,4_§r.}'.ffl_{l‘}ﬁ5,{nu:uu_g_.%,,/_{lK;ljrégTz,vP, QRS
i/d B’/S’:{JJIQU):JJ:I_U_?'Z:_Jé}{(.}b/f’;kﬁ@/?){j l.—uerPu.{,; u:ul-M}’Kf L
-ng?_"_:é}{kad Ku:’uu:cﬂuj..:/uﬂ"L(../uu{lPulS« ;...uj"g_.:f:)gi_(;

—e SURS 2 L1
85) Who is the doctor? B
TR DS ? i
(A) Q B) T (OGP (D) S
86) Who is the 1i1anager?
BoBeb DB 7 fef £
(A) Q (B) P © T (D) R

87) Which of the following person, who likes tea but is not a psychologist?
ot a0 & HB 0 cngEED, d PPV 50650 ?

| ?%ququdgq_.bfﬁé.kﬁq.fu;(}:d’
(A) T (B) S (C) P (D) Q

88) Who is an Engineer?
QOB D57 ey f )

(A) S B) R Q0 D) T

RLS - 13 (Set - A) 21
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89) Soujanya walks 14 meters towards west, then turns to her right and walks [4 meters
and then turns to her left and walks 10 meters. Again turning to her left she walks
14 meters. What is the shortest distance (in meters) between her starting point and
the present position?
R 14 Eo0E) DSOS QLB HED, BLiod B:5 K8 HEB B0 14 Hobth) DEDD BtHaws,

B 50 PG 800 10 Hobdef) HEB. ToE, B B0 HHL 8B 14 obatsy HEBe. Bio
S0 63 HAI0, 2ODLBOH 0B0 H06 WY Loty EVG RS0 God?

-0

e BRI A VA GRS e L 10 st §F K b U 2L
_rﬂp’#ﬁa.l_/ub/rlf»f_ﬂd._f»..,lc.rli'»(jlﬁfﬁ JL;.J'?% 14 V1Al

(A) 28 (B) 38 (C) 10 (D) 24

90) - In a party both fish and meat were served. Some took only fish and some only meat.
There were some vegetarians who did not accept either. The rest took both fish and
meat. Which of the following diagrams correctly reflect this situation?

25 SP THen SO0 HPODHD HEOREZ0N. FOF0L WD SRR EX0E%RD. H06%08
E008 HROHO HnEab ém@aagdo. 5208008 BRI, B3 ColR 85 BthH. QAOS aoth
e, 532030650, Botin Brzth. §08 IS B Hivin cae HEYHD PEBO BOCD Bxon?

_i&/J/J:Ja{JJfJ{J/Luf:’f;-{ng?c:.a;LﬁJ{uﬁaf:h{f
&LJIJ{JJ.}!JJI-Z:J.‘)Jl.':”ld{u;uﬁél‘)_.:l)i.lﬂ(dﬁ/}ujfj!’iﬁui
7 _L?’JU".C@gu:f@é.fd:di@;:-éfdlﬁ*lu)u .

) R

(©) O (D)

O

RLS - 13 (Set - A) 2
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91) In the following figure, the boys who are athlets and disciplined are indicated by
which number? (The triangle represents girls, the circle athlets, the rectangle boys
and the square disciplined).

£08 DB, Ko BKre SO ere 8Pk 0 RDR0N 7 BFOE0 eRDELD, HBO SFLD,
8 SEB0 eReSD BB SEBHO ERELRD R0,

_g.y’l,l:.ut;mu-f/.::.}{;g&.ué,ogﬂ:/dfﬁéﬂwtquau
(ugZ_/Jﬁ’l/'J.:._«.}_/Jd/u!d/ufﬂf’q{ugilk(u’l:sd’i{iJux.(}‘c‘:.-lf-)

S\
-

8

(A) 6 (B) 10 €) 1 (DY"2
92) Arrange the given words in the sequence in which they occur in the dictionary and
then choose the correct sequence. |
8015 005 Dok BESS 008 wiugSE 54 9T DECHIR K608,
_éw;lﬁ JBW'IWJJJU»,-; e s T 8L ».':-"J[J;Wlf-‘_’é_ :u.'.'d_:iz',n

1. QUALIFY 2.  QUARTER
3.  QUARREL 4. QUAVER -
(A) 1,4,2,3 (B) 1,3,2,4
(€) 1,3,4,2 (D) 1,4,3,2

93) Abhi was born on March 6, 1993. The same year India’s Independence day was
celebrated on Sunday. On which day was Abhi born?

©) 6 SR, 19935 80,0BM. o ROBBLBO 3758 M BoFBHO BOIRE0 Do) BEHYE0E, ¥
D 695 839,000t ?

(A) Saturday / $Qani0 (B) Friday / «ogoetso
(C) Monday / @8soaeco (D) Sunday / e&yseso
| _wa;J(Jjbs‘fa‘-_L.liy'gb‘d;ufrgfﬂildbm_m14.4/1993@/%&i
A9 (D) £ © -7 (B) i (A)

RLS - 13 (Set - A) 2



https://link.testbook.com/bQQ2EkH1bpb
https://link.testbook.com/bQQ2EkH1bpb

94)

95)

96)

97)

RL
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If A stands for +, B stands for —, C stands for x, then the value of ( 10C4) A (4C4)B6
1S .
AdD+m Bo-m Cdx arod, (10C4) A (4C4)B6 Dens 00s57? -

€5 s A U0CHAUBCHBEF <t S a2 U % S2Cosi - S 2Bus1e+ 2AS0
(A) 46 (B) 60 (C) 50 (D) 56

Find the correct number in place of <7’
808 HLods 7’ PDOS® GOTRYD DS Vo), HE?

..((_T.un./nu:(.;d/ gVl ,.JU"U:LPJJJCJJ

(A) 233 ~(B) 213 (C) 208 (D) 223

In the following figures, a set of figures carrying certain numbers is given, Assuming
that the numbers in each set follow a similar pattern, ﬁnd the missing number in
place of ?

085 00D DeRef, 2 Here 88 530 @030 /H09,e0 KOB SRROW. 8 B0k HEREFD ®oBen/

R0gED 88 er0e3 Hooso 88 epoh0s?Q, 7 @3&30@‘5 éom@:‘{) RO BRH0E.

/...f.ﬂ(f W Jiv u":;{i._Jv Vc-c_/uu(l?u‘d:(_.)JLJU&Iu’JK/IJJJLu
2 6 4 _g_'_fuu J)xbf&.b

IO O O
6 4 '

|
(A) 8 - B) S C) 7 D) 6

Find the number of triangles in the following figure.
g0¢ss w@)éé@o@saggaﬁaawéagow? _gijwwzu;‘:‘ﬁ&d.j@u

Gl N
Ay 19 (B) 23 © 21 (D) 10
-13 (Set - A) "
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98) A cube whose two adjacent faces are coloured 1s cut into 64 identical small cubes.
How many of these small cubes are not coloured at all?

&8 50850 g, Joth BWED G PP Gord 3, 64 TPERDE000 Y Foodnene
B8D0SDGEH0. 7368 widen SorHBOHED HdHDeD Y 5P 7 |
e s s .__»f_é’:é‘fdiﬂ/ﬁ‘kcJ'J”glz(j%u’/wu’;”é 1
’ ‘ e L
(A) 24 (B) 36 (C) 48 (D) 60

99) At what time between 5:30 and 6 will the hands of a clock be at right angles?

5 . :
(A) 431—1- minutes past 5 (B) 40 minutes past 5

7 - -
© 43; minutes past 5 (D) 45 minutes past 5

5:30 S00atd 6 okt Bg; 0t Both KoY, Sotg; ©ow85Ho S0koe?

5
(A) 5 dose 431—1— Q. (B) s ote 40 2.
7
(C) 55000 43H Q. (D) stowewasd.
By i DS ENL G 1 £ £ 6515:30
5
(2405 (B) (e B As @
7
(erasfs D) B s ©

100) As per planning commission of India, which was the fastest growing state during
2006 to 2010.

(A) Kerala ~(B) Bihar (C) Gujarat (D) Maharashtra

2006-20100 &g, gRES HIPBY HOLLO HSSO ®B08 o ODEHE) BOOD Teg0 HEO?
+ N

(A) Suvy (B) 23556 (C) Hacs (D) Bogroeg
ce 8 eS8 e eraf £ P B30 il 2L 20062010
e @) =1/ © JIVING:) ud @

RLS - 13 (Set - A) |25
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101) Justice Varma committee; constituted in December, 2012 to suggest amendments to
Crniminal laws related to
(A) Terrorism (B) Corruption
(C) Domestic Violence (D) Sexual Violence
GRowb, 201268 Hotn BowadS & 1.S. S5, 50063 §DHS S0 H @008 Koo
DO FARDODOD?
(A) &8ercso (B) eos6rodsso
(C) )& 3roid - (D) 8088 3rod

JJJ}I&-JUJ’F("lfufc_)’d.../f//u.)r’)ufédfl‘r:u’)/ZOlZ/J
dwﬂf” D) ,uv}/ © . dbests B) Goletts (A

102) National commission for minoritics celebrates Minority Rights Day on which of
the following day? :

_A) 18 December (B) 19 December
(C) 20 December (D) 21 December
o Pomeod 8808 Yrrote e O BRY HD,t aHY®OD?
(A) &dowb 18 (B) &oab 19
(C) &owb 20 - (D) &Rowbd 21 :
e b AL G i §T e
A3 ) A0 © A9 ® A8
103) Which of the following countries launched a long-range rocket Unha-3 in December
20127 '
(A) South Korea /(ﬁ) North Korea
(C) Japan (D) China
&oad 201268 Unha-3 &3 erob oes 028e50 & ddo SatnBoon ?
(A) oo Sﬂoo:ﬁa (B) &85 820axm
(C) ams D) g -
“Gend Ly G £ Unha308 2012, 3
(D) Ul (©  LIUE ® LIdR (A

RLS - 13 (Set - A) 25
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104) Lionel Messi is identified with, which of the following?

(A) Swimming (B) Golf
(@5 Foot ball (D) Tennis
D3RS o), £0O 3 5 Gotiod? thyow) SOh eaE?
(A) 0,06 (B) 8¢
(C) DFerd (D) 8]
| 9.;_ttgttga,sud(uid.ibu/o’-g‘f
F oo J© S ® Sz @

105) Which of the following states has decided to observe the year 2013 as Information
Technology Empowerment year? "
(A) Madhya Pradesh - (B) Gujarat

(€y Tamilnadu (D) Karnataka
808 T3S D oago 2013 DODBOY adgad 85308 Do BOORH HODBLOR oiread
2P0 T | | |
i‘ (A) o8 HIS (B) hzced
3 (C) - BEoGRE (D) o35
| _gm}Jw.w;,wd.)ufu’hc&|f2013dyz_.=44/u:¢s@u
S O ikt © i f @ Rogars (B

106) Whois the Pakistan’s caretaker Prime Minister, appointed till new National Assembly .
elections to be held in May, 20137 |
(A) Reham Sehari
: (B'r Sarfuddin Khan
(C) Mir Hazar Khan Khoso
(D) Justice Iftigar Mohammed Chaudhari

35 201368 SRES V0L DREWD 2OBSEE, MBS Badd @8H5Y, HEDH Ho0Joe
:'Oofaaboéeoc%é& DIBO? |
(A) Téndo 2

I (B) ‘63(5%@5 LR

(C) £56 goab gd 2586

(D) R apb aognrib 6o -

e _L_fgtzf’s;;,ucf[ufu:uu@jﬂudﬂuiL.n,é_nﬁ»’u.'zomf_

| Yb S S (B) Sk ff A

$ poz B (D) A2 (©)
RLS - 13 (Set - A) | 2



https://link.testbook.com/bQQ2EkH1bpb
https://link.testbook.com/bQQ2EkH1bpb

FRESHERS HOW

107) Who is the new BJP president?

(A) Nitin Gadkari @) Rajnath Singh
(C) Venkaiah Nayudu (D) L.K.Advani
eRCHah asee R & BEIEDE DB ?

(A) 288 655, | (B) o8 206
(C) Bosan, meat (D) LK. emd.

?uju:rzﬂéi.ﬁdjkﬁegilﬁ{
LTS TRP A T 268 (©) Fiv, ®  ySLFE @

108) Who is the new Prime Minister of Japan?

(A) Yosho Kama (B) Yoshiko Noda
(€Y Yasuo Fukuda (D) Shinzo Abe
8BS B SIS DEPHL0Y DBHE P
(A) DBrs sesm (B) Bnass S
s &2 (D) B394 (© 13958  (B) Wiy (A
109) Miss Universe 2012, Oliva Culpo belongs to which of the following countries?
(A) UK. ‘ (B) China ,
CY US.A. (D) Philipines
2012 808 0xb0RHE edam 5658 808 08368 B 3008 Jooon?
(A) amIBE BoBES: (B) Bwo
€) ofwo%.o (D) 203§
&
N ?‘ac:_.Jqu‘:djbqub/lt(leﬂu’J.é(u/wlZ
D iy © & (B) .4 @
110) Who is the Director of Satish Dhavan space centre, Srihari Kota?
(f K. Radha Krishnan (B) M.YS. Prasad
(C) Kota Harinarayana (D) K. Narayana.
S50 5508 RES oS (fn)ﬁ ~o&b Qagcb BT
(A) 3. oeegs - (B) M.YS. 925
() SS0sromeoeants (D) 3 oeomabes.
-q;u/}-”ju‘éf‘“u:‘:lwm:u"-"’ut,sfd/:d/
g Aindnofl B S Sl (A
it (D) S sl (©
28
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111) BRICKS summit 2013 was recently held in .

(A) Moscow (B¥~ Delht
(C) Hong Kong (D) Durban
2013 BRICKS 3o 05eado 08 200087
(A) &nids, (B) 48
(C) S8oseod (D) &6
T uWoedig F ¥BRICKS 2013
¢t (D) H£¥E © Jo (B i (A)
112) Who is the Man of the series of recently held Border Gavaskar Trophy 20137
(& Ravichandran Ashwin (B) Ravindra Jadeja
(C) M.S. Dhoni (D) Prgyan Ojha
2o wods B8 -t5ae,5, 2013 (PHET SRS 89 & HEH HHLL?
(A) BDBOBES 980 (B) &dHoy atien
C) oHoa® &0 (D) Hrmgh e

OBy x_’z;d,_ﬂg:r2013&s}/|f_;5;w’&f"u:u);.gu»
oy D) FRifl (© Lk BEAIIRE (A

113) The Union Budget 2013-14 estimated a total expenditure of .

(A) 15.56 trillion rupees (B) 16.65 trillion rupees
(C) 18.65 trillion rupees (D) 19.26 trillion rupees
2013-14 Bogs ZET B0EO PED DOBP BOBT BOB?
(A) 15.56 g300HD GRaraDHeo (B) 16.65 800D tnaroHen
(C) 18.65 HOAHS tiRarcHe0 (D) 19.26 HOCHS Brdasben
SO b A1 A es S, £ 201314
1221665 (B) &rse2 1556 (A)
£ 102k 21926 (D) st 21865 (O
114) Zhuang Zedong, who died recently associated with which of the following?
(A) Shuttle Badminton (B) Billiards
(C) Swimming (D) Table Tennis
2550 foEB00D warob S0k 808 wet3d B08% Koo BB GoisRtd ?
(A) 58S enBo0S (B) @0ons |
() 00,06 (D) Gend G0
' ?L;?a,u/u’.‘d_’j@udwKféjuw&,ui,/ui’ui;._)b
SFE D S © Lk ® P @
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115) Which of'the following were granted the Maharatna Status by the Union Government
of India of February 20137

(A} BHEL and GAIL (B) ONGC and GAIL
(C) ONGC and NTPC ‘ (D) NTPC and BHEL
DRDO 2013658 Bots HEbH,0 B FTISY oD FoBH Bodden H?
(A)  2.3508 Q.08 suoatv Bawed (B) 2.08.8.% svoatn Sond
() 2dd.a2 ool 0d.8.0.0 (D) 08.63.3.2 oo 2.3%8.9.008.
Wis e AL E A S U S AL e S e BT 220136 S
S s G @) Kondoigy @
disi€idonsddyr @ S Sy (©)
116) Who is appointed as the first Chief Justice of Meghalaya High court in March,
20137 '
(A) Justice Sada Shivam (B) Justice T. Meena Kumari
(C) Justice Radha Krishnan (D) Justice Rajesh Kumar Agarwal
58, 201365 oD §e55) HERd FOHBRGT DB DOHIBONE)?
(A)  2Q0 Dwedso (B) &35 8. Horrtosne
(C) 2R opegS (D) 30 00dl K506 atioe,S
,L:Fl:rx/ﬁéc_,q?d/up._g%.{.&J/JQ.JL;‘J:QOB@JL
St du ® rEiaegt (A)
Ju AL o o Lot (©). .
117) When 1s the International Mother Language day is celebrated?
(A) TPebruary 22 (B) February 24
() February 21 (D) February 28
@Joéﬁggéqf) Eopa)amdp 8)6'5%&0 DD BP0t ?
(A) Baso, »p (B) 3aso, 24
(C) Baso, 21 (D) Bae, B bt SIS UIet Y
Sss 228 () S 221 (© S 2% B) $ss 222 (A)
118) UN secretary General recently commemorated as Malala Day.
{A) November 05 {B) November 15
() November 20 (D) November 10
e DB DO DELO BT & 6% gherer B0 BSOS 7
(A) Swoab, on (B) Xoows, 15
() &oab, »0 : (13) SHoab, 10
| _EL‘,’“..JU'{’{J,,u)brfi-dﬁ;dﬂéﬂirr}[
2710 (D) 2920 (C) #7915 (B) 295 (A)
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119) Light travels fastest through which of the following?

(A) Air (B) Water
(C) Diamond &) Glass
5208 3R (Howe BB,08 Stsore HATRB0E ?
(A) oo® (B) & |
) e ® (?2.[51/ NI I LT
N> g (© 3 ® 5 (A)
120) Non stick éooking Utensils are coated with .
(A) Polystyrenc ~ (B) Teflon
(C) PVC (D) Black paint
AR5 S0k egen O HrE Yrodod é;beaaooa?
(A) é)a@fgas ' (B) &a»sS
(C) PVC (D) g owoes
?.;,t'lgl[&fc_(/(f/fbﬁlut
wxSh @ g © v ® . gl W
121) The rate of evaporation decreases with :
fA) increase of temperature ~ (B) increase in humidity
(C) increase of surface area (D) increase in wind speed
B8O G308, BLOHGS e BOP SEREHEG G087
(A) &GS DKL (B) B e
(C) edove 305 HHDSL (D) o0 S50 Btoriese
' ?‘LJM,?:JLﬂg!:Ju:L;’JL:A;B:
Seitd ®) Stk Fom (&)
SLisb.8in (D) SLIKI, (©
122) .The unit of kinetic energy is same as that of
(A) Momentum (B) Pressurc
(C) Force 4D) Work
t5Bed dho, HEoessn o S8 B0 O Sokoon 7
(A) S0 (B) bassw
(©) weww D) 50 -
?g_dnd.-v&u’f& ddus s
Y o e (© 5k (B) =7 (A)
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123) Electron volt is a unit of

(A) Magnetic force (B) Charge
(C) Energy (D) Potential difference
DORS Sep 308 Hisoerssin?
(A) ©0HPs wosw (B) e3dss0
(C) 8 (D) spo0nsdm
; ?{,db’i,{rJJ;:ui}?u
5/ dui (© Lk B =gt (@A)
124) The weight of 400 gm stone is .
(A) 39N . (B) 04N
(C) 0.041N | (D) 3920 N
400 PRV TPaNEID) DO T
(A) 3.9 800258982 (B) 04 e RATNS
(C) 0.041 mﬁm@' (D) 3920 &in toxi
Bk A o1 a0
S£3920 D) €004 (©) %04 (B) €39 (A)
125) The electromagnetic radiations used in RADAR are
(A) o -rays (B) Microwaves
(C) v-rays (D) X-rays
0B a8 G 50DI08 HBSEmen :
(A) o - Btepen (B) REBS
(C) - 8eseen (D) X - &emen

-c;_t'ﬂdb;‘lu.‘:ﬂ,gjb’djét'u)-bt?df.
JLSX D LS © s ST A

126) Centigrade and Fahrenheit scales give same reading at
R0e3Ft B0t s SimeS Hriresen Jotk DR B 556 2.8 Dewsd BOB doeran?
St UL g S e bt S
(A) —40° (B) -273°
(C) -100° (D) -32°
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127) Tartaric acid 1s the constituent of
(A) Washing powder
(C) Bleaching powder

2520208 esxian BROGP B PersET

(A) s»dob b
(C) Baob b

FRESHERS HOW

(B) Plaster of pairs
(D) Baking powder

(B) 2235 b 200

D) &8c8 266
) &5 -g.;bj(i'lﬂf(}.él_f;h?

StE @ S © vedTre ® 0 SLn @A)

128) Which of the following is strong acid?

(A) Citric acid

(C) Nitric acid

Bot) O DO et e ?
(A) 235 essiysio

(C) B35 eibosin

Rkt @ S FE (©

(B) Oxalic acid
(D) Acetic acid

(B) ®=208 ekiysn

(D) oRed8 essipdn
..q..ir“"r’lbi/gﬁJJ.au

MIIT B MSFV (@A)

129) The National Chemical Laboratory is situated in

(A) Pune

(C) New Delhi

RS BEES e0ePTS DB SO T
(A) %ps

- {(C) &8

AT @) dod (©

- (B) Patna
(D) Hyderabad

(B) 2
D) 3»

&2
i -c-dl:uw’d/:&!ﬂuf’
4 ®) i W

130) Food cans are coated with tin and not with zinc because

(A) Zinc is less reactive than tin

(B) Zinc 1s costlier than tin

(C) Zinc has a higher melting point than tin

(D) Zinc 1s more reactive than tin

DB DBOLD BISBOBS HPB YRR 500 B0 5D, DOLIB0E
(A) B0, B550 Bo& B8RS DBROGD BOG $0%&0 HOD

(B) 0% 86560 5085 26356 8508

(C) 2o, 86550 B0& ¥ ool Panoes 08 Godto Sl
(D) 2205, 86550 08 P DBVOGS SOB Goto Do
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131) Major constituent of LPG is ;
(A) Ethane (B)

(C) Pentane (D)
D5, 2.2, E0P,07 BDOD BOR S0LOD ?

(A) 8BS (B)
©) 2085 (D)
S ety O ¥ (©)

~ 132) Which of the following is not an inert gas?
(A} Argon (B)
(C) Bromine (D)
§o 320 BERAD OO DE? -
(A) &od (B)
© s (D)
v (D) Fls (©

FRESHERS HOW

Butane
None of these

RS
ISTATI AW
_.c‘._/d'c'_u/w],)c:..qLPG

L2 (B) 2 (A
Helium
Krypton
En®aho

5@35 ..g.'u:‘;af’g[{(ffu-fd_'ibu
& ® e T (A

133) Two elements X and Y have the same atomic mass but their atomic numbers are 20

and 21 respectively X and Y are

Soth domeseen X S00aim Y ew a8 @manptsn O3 SaR00. T B8 VO, O 20

000 21 oo eowd, X, Y ox Hiooenth?
(A) Isotones / my5esP:y _ (B)
(C) Isobars / odsemns - D

Isomers / o550t
Isotopes / od5eSzyen

...f_ﬂ_rbfg;'ﬂZIJJ!ZOJI:‘._-;?/'-)U-;"d/;ﬁl,(gjlcj?uj/;.ﬁtﬁ-{lYulX/Vu

LI T (D) AsE T (©)

134) Oncology s the study of

s B Wi (A

(A) Buds (B) Cancer
(C) Soil (D) Mammals
80520 BOD BF0DS0 B0 ? |
(A) Deo (B) S
(C) o83 (D) &ooeen
~e S LIGSET
el i o (D) G (©) A @) Urig (A
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135) Who won the Nobel prize for his work on photosynthesis?
(A) Melvin Calvin  (B) M.D. Hatch (C) D.I. Arnon (D} I Burmnell

85 a3 VOIS FaDP D HOSHFDL FBS 5B 0B TBHHH?

(A) 085 5085 (B) MD. &5 (C) DL oo (D) F w3
WS peidi i Sk i
Cdtueewt @ G318 © B B uadbuk (A)
136) A compound that is quickly absorbed through the walls of the stomach is o
(A) Tat (B) Protein (C) Sugar (D) Alcohol
D QOFH0 BB Brdg) HFEeetE K08 608 7 _
(A) &%) (B) e (C) =81 (D) semses
R N YT T  geY 4
“1f (D) ¢ © iy B 4 @)
137) What is the smallest of the White Blood Cells?
(A) Eosinophils (B) Basophils  (€) Limphocytes (D) Monocytes
8g U8 St 30, B DY §rio D7
(A) =8 (B) enasdden (C) ©obpen | (D) BoedSoey
Sir © e © N S
138) Which harmone controls the levels of Calcium and Phosphate in the blood and
bone? | :
(y/Glucagon (B) Parathormone (C) Cortisol (D) Aldosterone
BB0 000K 0L $D,000 Hooaty VLT 0D & SEE,D DAHOG0 ?
(A)  ceseend (B) arpoegeaind  (C) SOV (D) B NE5S
('(_‘_L;J(/b JKUJULJ”(UHK‘/U!‘J 1 gj‘u_f’
Us T (D) Jutt (© s FL (B) BI{ZINTN

139) Child marriage Restraint Act was first time introduced in India in the year
GPEBLH0SS exe), HEIe DEISS RO FE0QFB05EINOM O DOBBEG0S HBIDELOA0E ?
VMJQJWJPJ(JIE‘:,JCEQ._ 249 /d)l/d/u‘fu‘ul/JM
(A) 1955 ) 1956 (C) 1929 (D) 1976
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140) Which of the following viruses is responsible for Mumps?

(A) Como virus (B) Klamath virus
(C) Paramyxo virus (D) Botrtis virus
800 o3& O Pew (555 Yo S5m0

(A) 5%a» 360 (B) eomd 360
(C) 2eceo8s 36H (D) P55 P

?q.t'nfUJ/b’u,ér_J}m/(gﬂJ_;'@u
TN D) UinAls © 0 AW B Jisrd (A

141) Who invented Rabies vaccine?

(A) Gail Borden (B) Benjamin Franklin

(C) Alexander Fleming (D) Louis Pasteur

Be AT DBH BHTPRRD T

(A) Bowd 9GS (B) Boadd 085

(C) ®3poud ;;&b:;ﬁ (D) emond (B fey S ¥ SR

A @ LAk o Do @ uad @

142) Which of the following are known as Protective Foods?

(A) Vitamins (B) Proteins
(C) Mineral salts (D) Carbohydrates
B8 e85 Hrropen OO BB eI BeID @oeRtH?
(A) baox (B) 2eeS
() oobts g - (D) e0izrge
) ?q—alk{f?fJLergG’(f’fufdibu
PN D) L © gy B @
143) Quartz is chemically which one of the following?
(A) Calcium silicate (B) Silicon oxide
(C) Sodium sulphate (D) Calcium sulphate
ERaDOBOm B2 BT Bo& a0’ HO?
(A) =9awo RDBeS (B) %95 636
(C) s8avo ages | (D) =owo dges

"q,t—'fu:(l)bu?iﬂf(jw’
L D) sy ©  #UTue ® <A @
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144) Aspirin is chemically which one of the following?

(A) Sodium azide QB’Y Acetylsalicylic acid
(C) Sodium silicylate , (D) Ethyl salicylate
BaraHBom e—si’rg)cﬁ 808 70e38° DO 7

(A) bdovo ozk (B) S8erdss espin.
(C) dsdano LOBES (D) a3 PO3BeS

e VLS 5t g4 e? Gk
e Ko 0 ey @B e @) #UTE ()

145) Fatigue is caused due to the deficiency of

¢#) Biotin (B) Calcium
(C) Sodium (D) None of these
oL §08) T3¢ 3D D0 Do BentHE08?
(A) oSS (B) sgodo
(C) ~davo ' (D) &5%=5) ?z‘-_an:_.,?:JUKJJ(&:ﬁ
L e Lt ) Ay © A om s @
146) Usually, Tsunami waves travel at a speed of kilometers per hour.

ARERBEBOR orRd BEOMED KoLK Of éﬁ&)ﬁag 3e508% HaREmo WRan?
94—8)’!};{3%){ ______ J&{Ju:j/:.dtr{ui’rb
(A) 100-200 (%) 200-400 (C)  400-600 (D) 600-800
147) What is the approximate speed of earth’s rotation? (in km/hrs)
EfPRgEDRO (30, B B350 o (881 /t508).

(Jd%ﬁ)-%JnLjJDJJJJXJLﬂJ

(A) 1510 (B) 1770 (C) 1670 (D) 1870
148) Neptune has atmosphere similar to that of .
(A) Saturn By Uranus (C) Jupiter (D) Mars
B G Domesisa0 B T wedS HERHOm™ SOLI0R?
(A) (B) atdsh (C) tHHed . (D) womssm.
?.::_t‘n;f L/Lufipb’m4u,zf-
&Er @ 6P © il (B Sia)

149) What is the difference of time between GMT and IST?
GMT 8, 18T 8 5065, 08 DEvano 8w o8 ? (Fotdh)

‘ (L):U;‘:f)-;-b:rgj/.’(;ﬁ:uyué:IST/:IGMT
1 1 1
(A) 6'27 (B) 4 (;)/45 (D) 55
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150) The Paithan (Jayakwadi) Hydro-clectric project completed with the help of Japan is _

onthecriver
(A) Ganga (B) Godavari (C) Narmada (P) Cauvery

2anS STEAD0SS RE BovasS DR (B8aDEREG) @0 DS L O 50 God?
(A) o6 (B) 6&%cese (C) »5s (D) seae
_ka&{diu/.b.Gl{J/’glu }(UJI:JL?)UH‘(LUUJ__MJ[:_J.&JUW
S (D) 147 (C) S (B) ¢ @

151) What is the increase in the percent of population of India from 2001 to 2011 census?

2011 SaperR 65&0 D500, g G BrreR o8 T80 BORCE 7 (2001 BrReRES éﬁﬁ&é@cﬁa).
ln.!l.aul’df;ﬂd.vtl JUV;MU'UVLJJP:IJIQ,OOLZOH

(A) 17.19 (B) 16.64 © 18.12 (D) 17.64
152) Which of the following crops needs maximum water per hectare?
Sugar cane (B) Wheat (C) Maize (D) Barley
808 538 B HOWD, B IPHK DD H BBHBO 7
(A) Beotd (B) 6% (C) gy (D) end
' ?;.Jnaz;)‘f&ga,ya,uy}Qdé_f.’v‘ju’;ﬂj@u
A2 (D) & © urd ® £ @
153) What,is blue revolution?
(A) Commercial crop production (B) Bluc drug production
(C) Bluc metal production AD) Fish production
DO DDBO WOLS DAL ?
(A) seda Hote daég}é_'% ' (B) %0 soothe 688
(C) 29 5%5n 88 (D) <o e85y ?‘,;._lzf‘_'_’u;}‘uf
MgdeBl L L ) J'JF«JJ‘;&? (A)
xS o Mgdelsf L L (©
154) Indian railways factory - Dicsel Component Works (DCW)is locatedat .
(A) Pcrambur (B) Patiala (C¥ " Varanasi (D) Kapurthala
3Rt 3, Bop,meUsn - &ed g Heriisn (DCW) DS GO T
{(A) 2Boazth (B) aoSame (C) Gd (D) sHoe
S'..f_,(‘;uutfr Kb’pf}i’ldzi_d)g(_:bq}l
TN ) St (C) U ® E (A
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155) When did constituent Assembly adopt Indian National Flag?

(A) 22 October, 1947 (B) 22% June, 1947
(C) 22™ July, 1947 | @) 22" January, 1947
aRGH apdad DS TPaR0IS DO DD BBROODOL?

(A) o856 22, 1947 (B) awd 22, 194/

(C) am@o2, 1947 (1)) a25850 22, 1947

_LL}!IJIﬁgd}.GP:HLd{'Ub;;‘)
194755222 (D) 1947JU£22 () 1947222 (B) 1947 9122 (A)

156) According to Indian constitution, how many kinds of cmergencics are there?
QRTE GoaR 05 HEFO DY, 5520 wa03Den GrRRon 7
[w) & =3

(A) Three / &5 ‘ (B) Two/ 3ok
(C) Four/ oot (D) Five/ ot
| e e S L U J e Lo Tde
AR S (© »o (@) 4w

157) What is dealt within the Part IV of Indian constitution?
(A) Directive principles of state policy
(B) Fundamental Rights .
(C) Citizenship
(D) Fundamental duties
gREE 0oeR 0068 TR aRiio B8 HODOPOEICD ?

(A) oo Dprawe B335 HmeEeen (B) 2po5g0s so,e0
(C) ;0850 (D) Spesans deden
OF s (B) dﬂ.:gwjé;j‘fg&p (A)
F1A80 @) w1,
158) Who was the first chairman of the Planning Commission?
(A) B.R. Ambedkar (B) K.C. Pant
(C) Chakravarti (D) Jawaharlal Nehru
DERBE DO DS BEIFHBHD?
(A) 285 w055 (B) 382 08
(C) w850 (1)) mogebend Soamw
. RO ‘ o e Li:_“; o L u‘i“"j o it
sedi sz (D) do ke © AL @ S dd
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159) Who was the president of India when National Emergency was declared in 19757

= (A) V.V. Giri (B) Neelam Sanjeeva Reddy
{C) Fakruddin Ali Ahmed (D) Gyant Zail Singh
197568 anBah 88,008 1B (DETDID HEBODTDD 405 COFOB DT
(A) 2.9 8o (B) deo doeds 3¢
(C) 250 80 @snbd (D) apd @dd0b

“&uf:yﬁuvjyuu.ﬁu’/lu'fls%

EUdS o adgdf © S E ® S @)
160) Which of the following events compelled Gandhiji to launch the Civil Disobedience

Movement? ,
(4J Jalianwala Bagh massacre (B) Rowlatt Act
(C) Chauri Chaura incident (I2) None of these
RO HIBOD DOPESE G550 FPL0PHOWEOE O obid wOOm EERSHBORD T
(A) 2DaDS aoer grd 88D0sPL0 (B) B sso
(C) Sho 36 Do (D) Db
?cfmrf/a,,.uf'.f/‘ Mt s L 3708 <€
) ruJ’c Uheike  (A)
St (D) Siizdsz (©)

’

161) Which Article of Indian Constitution forbids Child labour?
GREE CoaR OG0 DT BHES eROSY,LO DAPODOR?

U(Jﬁ lpd,vt/dzu/juféyﬂujﬁy;r:

(A) 28 (B) 36 (C) 24 (D) 18
162) The tenure of the Rajya Sabha member 1s
(A) 2 Years (BY" Permanent (C) 5 Years (D) 6 Years
02835708 BN D DEHSLO OB 7
(A) 2 ‘r()o‘cﬁ%caep' (B) @0 (C) 5 0oHBTen (D) 6DoBBuen
_ --’;—L}ﬂdyﬂ*:.’&j&(/@’-j-‘“
Jr6 @) Jus (© S B Jr2 (A
163) The term ‘democracy’ is derived from which of the following languages?
(A) Greek (B) French ‘ (C) German (D} Spanish
‘BRRED” B H50 D 8198 o0& DORIPOWBDEON 7
(A) &% (B) 3o (C) ay,S (D) 08
C_JJC_—ULJ Clﬂ"‘lJuﬁ/{ﬂf”
&1 (D) v 7O &) ®) oty (A

RLS - 13 (Set - A) | 40



https://link.testbook.com/bQQ2EkH1bpb
https://link.testbook.com/bQQ2EkH1bpb

FRESHERS HOW

164) According to census-2011, what is the literacy percent among women in Andhra
Pradesh?
2011 BRgR 85,0 D560 esoggérgﬁs Sodmw BECRB B0 DOBT

-c‘..b'ﬂéKJ;I}(,/‘JL,E&J&;{I;;TJLd;P(;/JZOI1‘

(A) 67.66 (B) 59.74 (C) 57.56 (D) 63.38
165) Brahmaputra enters India first at ‘ :
(A) Arunachal pradesh (B) Tripura
(C) Assam (D) Meghalaya
eREBB TS RERRYE BB D5 HIEN00T
(A) DRSS HBS (B) 808
(C) oo (D) DprecH
| 2. n S ol e e wr f Y Rl
JeE @) (el © i (B) Jagdfts (A)
166) The Eastern Ghats and the Western Ghats meet at .
(A) Vindhya Hills ~ (B) Sahyadri Hills
(C) Aravali Hills (D) Niligin Hills
B B0en, DA ELIJ0W DG Benaran?
(A) Do, Htmee '\ (B) 288 dOmeen
(C) srs8 HEmoe (D) dode dmen - .
TNy N G Yoy

e & O ublgdia ©. UBsolle B okl @)
167) Indirasagar dam is built on which of the following rivers?

(A) Mahanadi (B) Chambal
(C) Narmada (D) Yamuna
ROQODHIE w5 oo T3S O HO P Bhebod?
(A) o550 | (B) Soos
(C) 205 (D) oEws
_ S‘lfglz{dﬁu”(-'.‘»fwm
b O 14l (© J”o® ity (A

168) When was Reserve Bank of India was established?

o6, 21,08 8D RoaiR DD, wdotakod? . .
o =W st S BT Gz

(A) 1934 (B) 1935
(C) 1937 (D) 1950
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169) Who is known as the father of Indian Civil aviation?

(A) JR.D Tata | (B) Abdul Kalam
(C) Vikram Sarabhai : (D) Satish Dhawan
2RGB ot DEIHDOING DEeELTVETe DD FPOLH TROHED ?
" (A) JRDemen (B) wmd Sonso
(C) &8 dposerow (D) 288 5o5d '
| cr L LTSl A3 ke
s @ dunies © cI (B) b T (A

170) National Sample Survey Organisation (NSSO) was establishedin - .
39S wo0de 00, siiRdad (NSSO) 05,8 pdotsadon ?
ATt S RNSSONHE A T s p ST SF

(A) 1950 (B) 1951 (C) 1949 (D) 1952
171) The Tenth Five year plan period started from
HED DO, HEPBE B VBB JSoYoSEOR? by S L IE U
(A) 1992 (B) 2002 (C) 1997 (D) 2007
172) The Pallavas ruled from _ ,
(A) Madurai (B) Tiruchendur (C) Tanjore . (D) Kanchipuram
BYHO0 DS K08 DONDOTRD ? '
(A) 003 (B) 8tHhdoinb (C) soapgpdh (D) seodyso
| ' -JC:PG'}-:—UW-&';&
cd¥ o) LEo  sser ® e @)
173) Sri Krishna Devaraya maintained friendly relations withthe :
(A) British (B) Dutch , (C) Portugucse (D) French
859 BHoeaHen DO’ Qi HODOGRED SAGFPB0TE T
(A) 269 (B) &S5 (C) @vefio (D) 3o
CE LIl e S LSS
S o JE4 (© & ® Fio@
174) Indian Classical Dance has been popularised abroad by .
(A) Gopi Krishna (B) Uday Shankar
(C) Yamini Krishna Murthy (D) Malaika Arora
B FHOD @08 HBTEY THE0 EYODD BB ?
(A) 65bgm (B) 650D dosb
(C) om0 g5 domg) (D) s 6800

?JUJ@/;LUIJ:JUJ/}!(J”J{K]K(}PJM_
ol © darr S © Fo @ EYATENIN!
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175) Who was the first Indian to be selected to the British Parliament?

(A) Lala Lajpat Rai (B) Bipin Chandrapal
(C) Dadabhai Naoroji | (D) GK. Gokhale
D8 RPR0LTD D0DY Bohotg FohBnse gREBaHBHE?

(A) ereno@dd 00D (B) 23S Woard

(C) oecweron 6% (D) GK. 6%8

“Ju:((}v;#éic_,._/i_ban;f SRS RTINS -NP Y
L3 oy Gosdunn © Jiuszer (B) Ltseddl (A)
176) Who among the following draftcd the resolution of fundamental rights for the Karachi

scsston of Congress in 19317 .
(A) Sardar Patcl (B) Dr. B.R. Ambedkar

(C) Jawaharlal Nchru (D) Dr. Rajendra Prasad

193160 50080 T30, o2 d) HBRBHOS DoSa0E $ot,0 Hop,55) S0VCVED BATD S0
0N T _

(A) %026 DS | (B) o .85, 00855

(C) as:mberd Jam (D) @ vedotsird

el S JSOP RS IS LRI
egal 1 ) s pdigz (O /i;rufd/fj (B) Jﬁ;s;/ (A)

177) Who was the founder of “Chola Dynasty™? ¢
(A) Rajendra-1 (B) Dantidurg (C) Balban (D) Vijayalaya
O Do) ABOWD aRTHDH ?
(A) oedogs -1 (B) GSosws (C) eneyS (D) daabeahH
_wufdtb’uuw,b
Vs (D) o (©) SFs B Inotzls (A
178) Who brought Islam first time to India?
(A) Khaljis (BB) Slave rulers (C) Arabs . (D) Turks
RROD PITBS3DS 0SSO BEDH se3HDH ?
(A) 39 (B) endd oo (C) esmyen (D) doten
| BOP IR PSRy JET
T © gL F1e (B) & w

179) The title of “Viceroy® was added to the oﬂ'lcc of the Governor General of India for
the first time in :
QTS (5556 ) cﬁmé& st Aesedocs BFoow OF DR Dyt 8 St ?
!rfuu.fﬁr;.._/ulb)l{ it s //:LJ}/U’U(/:M

(A) 1848 (B) 1858 ;,0)’ 1856 (D) 1862
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180) The most common crime mentioned in Rigveda was
#) Cattle-Lifting (B) Kidnapping  (C) Murder (D) Rape
55068 98,08 FEREEOND JBOM DEHESE DOT7

(A) DDOHoz Poidosto (B) 8wz
(C) s (D) masgfo‘fo_ggcufrzru.:.__/u:sz
G (D) J o G B HBEr @

181) Tipu Sultan was the rulerof .
(A) Madurai (B) Vijayanagar (&) llydcrabad (D) Mysorc

e.‘%)n3 RoeRRD BOD DHOFDOTINE?

(A) Bogg (B) ®=s00:5656 (C) Frweerd (D) o6
BULEA U kL
D) ATs (© ey @) Sisa (A
182) Tulasidas, the author of Ramcharit manas, was a contcmporary of which of the
* following rulers?

(A) Akbar (B) Shajahan “(C) Humayun (D) Sher Shah Suri
PS8 SPDVD FDHOED B0 BoDEROS OO DISHE ?
(A) o556 (B) passs (C) swsmand (D) b ap 2ed
_E S L J/J!)U'FJ“" Lt 22U
Sorilt 2 (@) usk (© JFEE ®) Ao
183) Ilazara Ramaswamy, Vitala swamy temples were builtby =~
(A) Prataparudra Deva (B) Ravi Varma -1
(C) Sri Krishna Devaraya (I2) Chattrapati Shivaj
Ea0e CREDRRED, HEOLE BOOTPLD VSO B HY,0BATTRON 7
(A) Hepdtde SH (B) w056, - 1
(C)y 853 BSoeahHen (D) $808 dewe?

-LJ:I/:PJ_u’(ul‘/dlfﬂb?udfflbul/}
S GI3 Oyt 6 o (© JIbnl B) 1gasgby (A
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184) Ramakrishna mission was founded by B
(A) Rama Krishna Parmahamsa (B) Swami Virajananda
(C) Swami Shivananda (D) Swami Vivckananda

oLAVESES! EOKO0 DBH DO ?
(A)  oesoY)R) HEEERON (B) &0 DoeBRBOL

DG &5 D) & S50
(() 033131'86}3(‘{)0 ( ) OSS.DE} SEES _dlid.__.(f()l_).k;k?a/u-’

LGndly D) WSy (O 1Feiadly B Lal U ()

185) Which of the following Arts got inspiration from Jain religion?

(A) Gandhara (B) Mathura (C) Sunga - (ID) Nonc of these
iS5 3080 FOOG HSes 0D BE DO T
(A) mRoRS (B) Sogs : (C) oo (D) &z
SLFF S IS LS et ittt
Aty ¢y (© YA A=l (A
186) Sisir Kumar Ghosh was the editorof .
(A) Anand Bazar Pathrika (B) Amruth Bazar Pathrika
(C) Gana Shaku (D) Bartaman Pathrika
26 BosnB el & BB DODSEE? ]
(A) a50b wepb ©88 (B) o8 neb 88
(C) | t5easB (D) erHnd 585 _é';/’:élf_‘_f'lj;w(/f
g rulz (D) P ©  GaaAb s B GELLET (A
187) The partition of Bengal was inade in 1905 by e _
(A) Lord Curzon (B) Charles Canning
(C) lLord Chelmsford (D) Charles Hardinge
19058 DOSBEOS? BOMES DD DB DFaetd?
(A) b85S (B) w9gh 50006 (C) o8 35995 (D) w05 5005
eSS 90

Jj/;uJJ"g (D) 58545 (© ﬂuJ/l; (B) iS50 (A

188) Vascoda Gama belonged to which of the following countrics?

(A) laly (B) I'inland (C) Portugal (D) Poland
005,08 RER & érﬁ"rocg(ﬁa?
(A) ad (B) Boeos (C) 26558 (D) D580k
e e K AL GRS
My ) Je, (© By ®) i@
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189) Jaliyanwala Bagh was in

(A) Jalandhar (B) Ludhiana (C) Patiala (I Amntsar
- sdonSarenent O Hi5G0° GOGE T
(A) =008 (B) exneosne (C) ape3odmer (D) o5806
| W AU bu®
A, (D) JU (©) 4 (B) Pl (A)
190) On which occation the slogan ‘Nagpur Chalo” was raised?
(aﬂ() Non cooperation movement | (B) Quit india movement
(C) Dandi March (D) Jhanda Satyagrah
‘bR w5 @3 DaRG0 & DoEEodF RHEON?
(A) 20D DOBGEG 63 F00 (B) 8.5 q0b60im &6ta00
(C) o &mb, (D) =owe dmaisraw
' ‘.‘g_l,%éy‘ufafjfﬂkn{t”
{;;:J:{u(‘?:ﬁ (B) Wbl u{/‘- (A)
| RSN AR ©
191) Who was clected as the permanent president of the Muslim Leaguc in 19087
(A) AgaKhan (B) Nawab Salimullah
(C) Syed Ahmad Khan : (¥ Syed Amir Ali
19088 HOBESOS® SVROOE CI0E, TS BEFHEM 5B OROBHET
(A) &m arRd (B) ®ovee§ odavep
(C) Danbd ompd ged (D) Hond odb sd
| S2niF ol 1 L P 1908
F el O YAy © FT-gOT ) UBET (@A)
192) Who authored “Unhappy India”?
(A) Dadabhai Naoroji (B) Lala Lajpat Rai
M Surendranath Bannetji (D) Bal Gangadhar Tilak
“od 8.0 RGP D DB SHOTE?
(A) weoegrRown 50653 (B) everozdd 0oad
(C) modogard &5 | (D) ewe Somists 8eb -

| Spud e L ngui”
.ﬁ',ﬁh’fdg (D) GAFbii (O 2.1;_-.;{,J1J (B) u’.m’dwm (A)
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193) What is the approximate Muslim population in India? (As per 2011 census)
BRI gREBBIOE B0 BiTER OB TBO S0 ?
‘-g.A/jZf)lild){.f‘)"tﬂul?'JkJWLL,‘AQJ!J!Z)"
(A) 8% - 10% (B 10%-12%
(C) 13% - 15% (D) 16%- 18%

194) What was the capital of Vishnu Kundins?

(A) Undavalli (B) Mogalraja puram
(C) Srisailam (D) Denduluru
DEP L0650 0oReR DT .
(A) Goudd » (B) awsepamyiso
(C) 8300 ' (D) BothemtnH
| GO e ALy,
si¥sx0 (D) ﬂ'u/ ©) p;{,.uf (B) datssl (A
195) Under whose reeling Marco polo visited Motupalli?
(A) Bcta Raju (B) Rudrama Devi
(C) Prola Raju (D) Ganapati Deva
DO Do S0 FG3E S BreHOR DOSH,0ERE ?
(A) Bsooer (B) Sosmodd
(C) Doooey (D) 58 Sheko
_Wlfw)b/utE‘f&.){f;tuﬁ#;‘»:ﬁu’(
quﬁ’( (D) 293¢ (C) Sk (B) 2k (A)

196) Who authored Pakudurallu novel? _ '
(A) Rayaprolu Subba Rao (B) Devulapalli Krishna Sastry
(C) Kattamanchi RamaLinga Reddy (D) Ravuri Bharadwaja

DD BHODOBHED? _
(A) oceDdben weRce) (B) Boesy gy
(C) Bhimnod oeEdom3d (D) oegro aSerge
_ e £ st sk
§ e Sdng B | - daglls (A)
Tt Al (D) dé;b"ﬂtmf@" ©
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197) Who was the founder of colloquial language movement in Telugu?

(A) Gidugu Rama Murthy (B) Kandukuri Vireshalingam
(C) Chalam ‘ (D) Ravi Sastri
BentHS® W BIOL LRSIV SN DBHLH?
(A)  BtoD cedvaioreg (B) sowogre HTocso
(C) oo (D) sawy
oL Sutidedis
(ai;f{,djf;:f (B) S 1 (2
S B8 (D) I
198) The first colour cinema in India is L
(A&F Alam Ara (3) Raja Harischandra
(C) Kisankanya (D) Pather Panchali
aREBEI08 D SorHe DBO DOT
(A) @080 (B) oeep 0o
(C) 8 85 (D) 2386 &pooed
' ‘-':;—u’u/b‘:‘c/_fz&fc-wd/ui?u

A @ W © wadian m aTh

199} The right to property was removed through which constitutional Amendment.
eEED & TR0 DB w0 FoBomath?
| | RN VS WA S 20
(A) 40 (B) 42 (C) 46 (I 44

200) Where is Ramappa temple located?

(A) Karimnagar Dt. By~ Warangal Dt.
(C) Krishna Dt. (12)  Adilabad Dt.
00 (D& e GO 7 |

(A) BE0XE eep (B) o e
(C) &sopeen (D) senend dep.

_.§.C’ Uut‘ﬁ,&'f ket

FoTdl (D) &S (C). FFs ® PSS w

e
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